ITEM NO. PART NO. DESCRIPTION QTY.
1 FB513 SCREW, M4 X 6MM LG, PAN HD, POZIDRIVE, SS316 2
2 FN0691 SCREW,POZI DRIVE,ST.ST(C/SNK HD),M3x8MM(OVERALL) 2
3 GP360308 MAGNET, DISC, 5MM DIAMETER X 2MM THICK 4
4 GP590 BACK PLATE, CAISSON GAUGE CASE, 6" 1
5 GP597 O-RING, 104.41.D. X1.78 C.S. 1
6 GP598 ZERO RESET O-RINGS 1
7 GP599 GASKET, FLEXIMOUNT GAUGE, 60 SHORE, 6" 2
8 GP600 WINDOW, 6" 1
9 GP603 DIAL, C/W DIVEX LOGO, 6" 1
10 GP620 MOVEMENT, 4" & SEC GAUGES, 1/4% 1
11 GP737 STEM, LONG, 8.5" GAUGE, 93MM LONG X 1/4" NPT MALE 1
12 GP626 ZERO RESET DRIVE 1
13 GP635 WASHERS,SHOULDER S/S 1
14 GP636 NUTS,SHOULDER 1
15 GP637 SHOULDER SCREWS S/S, 003.55.001 1
16 GP644 HUB, BRASS 1
17 GP645 OUTER SHAFT, POINTER, BRASS 1
18 GP646 STATIC SUPPORT PIN 1
19 GP649 BEARING, CAP, SIZE 200, CAISSON GAUGE 1
20 GP650 CAISSON REFERNCE PORT STICKER (NOT SHOWN) 1
21 GP657 SCREW,CHEESEHEAD,M4 X 30 S/S 2
22 GP677 JEWEL, CAISSON GAUGE, BRASS 1
23 GP675 JEWEL CARRIAGE DETAILS 1
24 GP666 CAISSON MAGNET PLATES 2
25 GP673 CAP, DUST, RED, 1/4" NPT 1
26 GP679 CASE, FLEXIMOUNT GAUGE, 6" 1
27 GP682 CARTON, PACKING, 6 INCH FLEXIMOUNT DEPTH GAUGE (NOT SHOWN) 1
28 GP720 CAPSULE SET, 125MM O.D, 6" CAISSON GAUGE 1
29 GP734 SCREW,M5 X 15 CSK/ HD, SLOTTED, MACHINE, SS 3
30 SEE VARIANTS TABLE TUBE SUB ASSY, 4" 1
31 GPP007 POINTER 105-110MM 1
32 GPX010 CLIP, 'C', MOULDED 1
33 GPX027 CENTRE BUSH, DEPTH GAUGE, SHORT 1

DETAIL VIEW

(SCALE 2.1)

\\%\
\\\

/A

SEE SHEET 2

SEE SHEET 2

SECTION VIEW

>

SEE SHEET 2

ISOMETRIC VIEW

N \
THOST

DETAIL VIEW

VARIANTS TABLE

GAUGE ASSEMBLY USED ON

PART NO. PART DESCRIPTION
ASSEMBLY NO. DESCRIPTION
GP768 | TUBE SUB ASSY, 4", 6.0 BAR GP360 GAUGE, SECAISSON, 6" DIA, PB, 230FT/70MT, 0.25% ACC
GP772 TUBE SUB ASSY, 4", 25 BAR GP362 GAUGE, SECAISSON, 6" DIA, PB, 720FT/220MT, 0.25% ACC
. GP364 GAUGE, SECAISSON, 6" DIA, PB,1200F T/360MT, 0.25% ACC
GP7T3 TUBE SUB ASSY, 4%, 40 BAR GP366 GAUGE, SECAISSON, 6"DIA, PB, 1500F T/450MT, 0.25% ACC
GP775 TUBE SUB-ASSY, 4", 60 BAR GP368 GAUGE, SECAISSON, 6" DIA, PB,2000FT/600MT, 0.25% ACC

(SCALE 2.1)

ITEM NO. PART NO. DESCRIPTION QTY.
1 FB513 SCREW, M4 X 6MM LG, PAN HD, POZIDRIVE, SS316 2
2 FN0691 SCREW,POZI DRIVE,ST.ST(C/SNK HD),M3x8MM(OVERALL) 2
3 GP360308 MAGNET, DISC, 5MM DIAMETER X 2MM THICK 4
4 GP590 BACK PLATE, CAISSON GAUGE CASE, 6" 1
5 GP597 O-RING, 104.41.D. X1.78 C.S. 1
6 GP598 ZERO RESET O-RINGS 1
7 GP599 GASKET, FLEXIMOUNT GAUGE, 60 SHORE, 6" 2
8 GP600 WINDOW, 6" 1
9 GP603 DIAL, C/W DIVEX LOGO, 6" 1
10 GP620 MOVEMENT, 4" & SEC GAUGES, 1/4% 1
11 GP737 STEM, LONG, 8.5" GAUGE, 93MM LONG X 1/4" NPT MALE 1
12 GP626 ZERO RESET DRIVE 1
13 GP635 WASHERS,SHOULDER S/S 1
14 GP636 NUTS,SHOULDER 1
15 GP637 SHOULDER SCREWS S/S, 003.55.001 1
16 GP644 HUB, BRASS 1
17 GP645 OUTER SHAFT, POINTER, BRASS 1
18 GP646 STATIC SUPPORT PIN 1
19 GP649 BEARING, CAP, SIZE 200, CAISSON GAUGE 1
20 GP650 CAISSON REFERNCE PORT STICKER 1
21 GP657 SCREW,CHEESEHEAD,M4 X 30 S/S 2
22 GP677 JEWEL, CAISSON GAUGE, BRASS 1 A
23 GP675 JEWEL CARRIAGE DETAILS 1 A
24 GP666 CAISSON MAGNET PLATES 2
25 GP673 CAP, DUST, RED, 1/4" NPT 1
26 GP679 CASE, FLEXIMOUNT GAUGE, 6" 1
27 GP682 CARTON, PACKING, 6 INCH FLEXIMOUNT DEPTH GAUGE 1
28 GP720 CAPSULE SET, 125MM O.D, 6" CAISSON GAUGE 1
29 GP734 SCREW,M5 X 15 CSK/ HD, SLOTTED, MACHINE, SS 3
30 SEE VARIANTS TABLE TUBE SUB ASSY, 4" 1
31 GPP007 POINTER 105-110MM 1
32 GPX010 CLIP, 'C', MOULDED 1
33 GPX027 CENTRE BUSH, DEPTH GAUGE, SHORT 1
£\
SEE SHEET 2

SEE SHEET 2 @

)\~
<)

hY. }

=N N

‘ ' ~

SEE SHEET 2

ISOMETRIC VIEW

VARIANTS TABLE

SECTION VIEW

GAUGE ASSEMBLY USED ON

PART NO. PART DESCRIPTION
ASSEMBLY NO. DESCRIPTION
GP361 GAUGE, SECAISSON, 6" DIA, SB, 230FSW/70M, 0.25% ACC
GP768 | TUBE SUB ASSY, 4", 6.0 BAR GP361AA GAUGE, SECAISSON, 6" DIA, SB, 230FT/70M, 0.25% ACC
GP361HT GAUGE, SECAISSON, 6"DIA, SB, 230FSW/70MT, 0.25% ACC, HYTECH
GP769 | TUBE SUB ASSY, 4", 10 BAR GP361AB GAUGE, SECAISSON, 6"DIA, SB, 295FT/90MT, 0.25% ACC, HYTECH
GP771 | TUBE SUB ASSY, 4", 16 BAR GP369HT GAUGE, SECAISSON, 6" DIA, SB, 150MSW ONLY, 0.25% ACC, HYTECH
. GP363 GAUGE, SECAISSON, 6" DIA, SB, 720FT/220MT, 0.25% ACC
GF772 | TURE 8UB ASY, 4 &5 RAR GP363AA GAUGE, SECAISSON, 6" DIA, SB, 720FT/220MT, 0.25% ACC
GP365 GAUGE, SECAISSON, 6" DIA, SB, 1200FT/360MT, 0.25% ACC
GP773 | TUBE SUB ASSY, 4", 40 BAR GP365AA GAUGE, SECAISSON, 6"DIA, SB, 1200FT/360MT, 0.25% ACC
GP367 GAUGE, SECAISSON, 6" DIA, SB,1500F T/450MT, 0.25% ACC
. GP369 GAUGE, SECAISSON, 6" DIA, SB, 2000FT/600MT, 0.25% ACC
GP775 | TUBE SUBASSY, 4", 60 BAR GP369AU GAUGE, SECAISSON, 6" DIA, SB,0-700MSW/FSW, 0.25% ACC, SUB

DIVEX OWNS THE COPYRIGHT OF THIS DOCUMENT AND ANY DESIGN RIGHT HEREIN. IT IS SUPPLIED IN CONFIDENCE AND MUST NOT BE USED FOR ANY PURPOSE OTHER THAN THAT FOR WHICH IT IS SUPPLIE

PERM

SSION IN WRITING FROM THE OWNERS.

NOTES

PARTS MARKED @ CAN BE SWAPPED TO MANUFACTURE SURFACE MOUNT AND PANEL MOUNTED VERSIONS WHEN REQUIRED.

/3. DENOTES CHANGES MADE AT THIS REVISION

ALL DIMENSIONS SHOWN ARE IN MM (UOS)

MATERIAL

REFER TO PARTS LIST

D AND MUST NOT BE REPRODUCED WITHOUT

TITLE

RO5

GAUGE, 6", SECAISSON,

ALL DIMENSIONS BEFORE PLATING (UOS) ~os ALL VARIANTS DIVEX LIMITED
REMOVE ALL SHARP EDGES AN D BU RRS R0O3 ITEM 19 REMOVED & ITEM 22 & 23 UPDATED 15535 MJ 20/02/14 MS ENTERPRISE DRIVE
WESTHILL
DIMENSIONAL TOLERANCES FNISH R02 | GP775 REPLACED WITH GP773 IN BOTH GP366 & GP367 | 13600 | DR | 06/01/12 MS DRAWING No. REV ABERDEEN
RO1 INCLUDE O-RINGS & PLUG 11288 SJ 25/09/08 MS G P360$1 R03 AB32 6TQ
MACHINING FABRICATION N/A I TSI N a I UNITED KINGDOM
NO DECIMAL PLACES | #1.0 | SIZE >0 <100 +0.5 R00 ISSUED FOR MANUFACTURE sJ | 08/07/08 MS REFER TO GAUGES Tel : +44(0)1224 740145
TWODECIMALFLACE. | 008 | St w500 50 | /I ] THIRDANGLE ™= DESCRIPTION connd o7 | omre | womay | VARIANTS TABLE niarcismiiniii
10. 1o, email : info@divexglobal.com
ANGULAR TOLERANCE | #0.5° | ANGULAR TOLERANCE | #0.5° w — | PROJECTION DO N OT S C A L E D R AWI N G o AO SCAL'IE 2 (UOS) . 1 o 2 www.divexglobal.com




